[

714 % x|2
QIEyA BHK/ QIEA

HE
EE

= (=]
SENRN =
= QEN (x| MH) 2Eo{E fla AASE.
2 M/ els m & F0|7t &2t
EEE ZTY £ ot
=
LEAF ZolE QlEA ZE-X{(EH 22120.)8 &7t
= oz M £ ot
A AEL1.4305 =
0|8 E74M 90 E2IH EL] HFEHoll
X2l ol nHE (ol & Elo| E&x|o{ UX| &
AE1.4305 LA =2 2).
o H2 ™E
PA G, H2M 2
PAG, i 7+ 222 El S
&0l 22l E7ts
HIHEE EE F2.
FILME
- OIRE E58, ClO|-IHAE, QIHA ZEX|Qt
QA EE &
« x| 24, QlHA SEQL QIHA ZHK &
- B, HA ZXE
a8l
ds
et W
LT T EEITOTTTTAR
=g
[ L |
_\f
- ws
A 7}
- P
‘N’
V] %
Al
= [ &3 e
i | d‘ 22120.0114 - .0122 (ARl
- 1 22120.0514 - .0522 (AE|QI2[A AE])
1N
dy
FEE
x| WS Azl & [
d d, I, ds Iy Is s F, F, %A E[ul|
0,02 PN - -
-0,05
[mm] [mm] [N] [°C] [a]
e xE d AR
4 M 8x1 4 16 35,0 16 5 10 4,5 12,0 -30 80 12 22110.0123
4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 12 22110.0124
5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 20 22110.0126
5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 20 22110.0127
6 M12 x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 31 22110.0129
6 M12 x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 33 22110.0130
8 M16x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.0132
VSAY BRSRY
HO|X|1~2]3

NHALDER

IHAl: 27.7.2024


http://halder.com/kr/22110.0123
http://halder.com/kr/22110.0124
http://halder.com/kr/22110.0126
http://halder.com/kr/22110.0127
http://halder.com/kr/22110.0129
http://halder.com/kr/22110.0130
http://halder.com/kr/22110.0132

714 A x|

=]
QleiA BRIX|/ Qleis 2

i WS Az & [ ME ¥,
d, d, I d; I I3 Iy Fs F, A A =|cH
-0,02 EIES ~ ~
-0,05
[mm] [mm] [N] [°C] [a]

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 68 22110.0133
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 69 22110.0135
12 M20 x 1,5 15 33 67,0 33 10 22 11,5 40,0 -30 80 125 22110.0136
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 219 22110.0137

LH g H AECIZA AR

4 M 8x1 4 16 35,0 16 5 10 45 12,0 -30 80 12 22110.0223

4 M 8x 1 6 16 35,0 16 5 10 4,0 12,5 -30 80 12 22110.0224

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 20 22110.0226

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 20 22110.0227

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 31 22110.0229

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 33 22110.0230

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.0232

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 68 22110.0233
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 69 22110.0235
12 M20 x 1,5 15 33 67,0 33 10 22 11,5 40,0 -30 80 125 22110.0236
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 219 22110.0237

Lo EE Wz AEl

4 M 8x 1 4 16 35,0 16 5 10 45 12,0 -30 80 11 22110.2123

4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 13 22110.2124

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 21 22110.2126

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 21 22110.2127

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 33 22110.2129

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 32 22110.2130

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.2132

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 69 22110.2133
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 70 22110.2135
12 M20 x 1,5 15 33 71,5 33 10 22 11,5 40,0 -30 80 127 22110.2136
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 200 22110.2137

e ZE Wz AHQIE[A AE!

4 M 8x1 4 16 35,0 16 5 10 45 12,0 -30 80 11 22110.2223

4 M 8x1 6 16 35,0 16 5 10 4,0 12,5 -30 80 13 22110.2224

5 M10 x 1 5 19 40,0 18 6 12 5,0 15,0 -30 80 21 22110.2226

5 M10 x 1 8 19 40,0 18 6 12 5,0 18,0 -30 80 21 22110.2227

6 M12x 1,5 6 23 48,0 22 6 14 6,5 19,0 -30 80 33 22110.2229

6 M12x 1,5 9 23 48,0 22 6 14 6,0 25,0 -30 80 32 22110.2230

8 M16 x 1,5 8 28 58,0 26 8 17 8,5 26,0 -30 80 65 22110.2232

8 M16 x 1,5 12 28 58,0 26 8 17 8,5 28,0 -30 80 69 22110.2233
10 M16 x 1,5 12 28 58,0 26 8 17 9,5 38,0 -30 80 70 22110.2235
12 M20 x 1,5 15 33 715 33 10 22 11,5 40,0 -30 80 127 22110.2236
16 M24 x 2 20 33 78,5 38 12 27 13,0 54,0 -30 80 200 22110.2237

VEAL BESRIY

wolx 2~2| 3
EE HALDER IHAl: 27.7.2024


http://halder.com/kr/22110.0133
http://halder.com/kr/22110.0135
http://halder.com/kr/22110.0136
http://halder.com/kr/22110.0137
http://halder.com/kr/22110.0223
http://halder.com/kr/22110.0224
http://halder.com/kr/22110.0226
http://halder.com/kr/22110.0227
http://halder.com/kr/22110.0229
http://halder.com/kr/22110.0230
http://halder.com/kr/22110.0232
http://halder.com/kr/22110.0233
http://halder.com/kr/22110.0235
http://halder.com/kr/22110.0236
http://halder.com/kr/22110.0237
http://halder.com/kr/22110.2123
http://halder.com/kr/22110.2124
http://halder.com/kr/22110.2126
http://halder.com/kr/22110.2127
http://halder.com/kr/22110.2129
http://halder.com/kr/22110.2130
http://halder.com/kr/22110.2132
http://halder.com/kr/22110.2133
http://halder.com/kr/22110.2135
http://halder.com/kr/22110.2136
http://halder.com/kr/22110.2137
http://halder.com/kr/22110.2223
http://halder.com/kr/22110.2224
http://halder.com/kr/22110.2226
http://halder.com/kr/22110.2227
http://halder.com/kr/22110.2229
http://halder.com/kr/22110.2230
http://halder.com/kr/22110.2232
http://halder.com/kr/22110.2233
http://halder.com/kr/22110.2235
http://halder.com/kr/22110.2236
http://halder.com/kr/22110.2237

714 A x|

=]
QleiA BRIX|/ Qleis 2

HA ME
e #x| Ato|= [ 1
d;
[mm] [mm] [g]
2 L{E IS0 8675 (DIN 439), A&l
M 8x1 13 2,7 22120.0114
M10 x 1 16 52 22120.0115
M12x1,5 18 7,5 22120.0116
M16 x 1,5 24 15,0 22120.0118
M20 x 1,5 30 32,0 22120.0120
M24 x 2 36 58,0 22120.0122
2} L{E 1SO 8675 (DIN 439), AH|QIE|A AE
M 8x1 13 2,7 22120.0514
M10 x 1 16 52 22120.0515
@ M12x1,5 18 7.5 22120.0516
M16 x 1,5 24 15,0 22120.0518
’ M20 x 1,5 30 32,0 22120.0520
M24 x 2 36 58,0 22120.0522

HE o

J

gﬁ;/////q

tNHALDER

Ho|x|3~2]3
IHAl: 27.7.2024


http://halder.com/kr/22120.0114
http://halder.com/kr/22120.0115
http://halder.com/kr/22120.0116
http://halder.com/kr/22120.0118
http://halder.com/kr/22120.0120
http://halder.com/kr/22120.0122
http://halder.com/kr/22120.0514
http://halder.com/kr/22120.0515
http://halder.com/kr/22120.0516
http://halder.com/kr/22120.0518
http://halder.com/kr/22120.0520
http://halder.com/kr/22120.0522

